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Important Question for SSC CGL 2017 By Alok Sir

The sum of two positive integers is 80 &
difference between them is 20 . Then what is
difference of squares of those numbers?

afg gt oI quiias Y AT 80 § 3 ST 3T 20 @
dt 3T HEel &% N @ A=A fehar 87
(a) 1400 (b)) 1600 () 1800  (d) 2000

The difference between the selling prices of an
article sold at 4% and 3% profits is Rs 3 . The
cost price of the article is :
ot a%g & 4% 31X 3% & AW W a9 T fasha qeat
HT N & 3 B W &1 HT oI 2
(a) Rs 400 (b)Rs. 350 (c) Rs. 300(d) Rs. 100
In a school there are 1500 students, 44% of
them are girls. Monthly fee of each boy is Rs.
540 and fee of each girl 25% less than that of a
boy. The sum of fees of boys & girl is
T W@hel § 1500 B &1 I8 & 44% @gihal g1 ToH
WEH HI WHE & 540 § M v@® e & W
TEH H WIE A 25% ®A §1 @RI AR wTsfwal @t
HIH @1 I T E ?
(a) Rs 720600 (b) Rs 720800
(c) Rs. 720900 (d) Rs.721000
The time for a train of length 110 metres
running at the speed of 72 km/hr to cross a
bridge of length 132 metres is
72 THt/geT @t Tfd & Fe areft 110 Hex &t T &t
132 HieX od & i YR & | Tha=1 90T T2
(a) 9.8 sec (b)12.1sec (c) 12.42 sec (d) 14.3 sec
Simplify the euqgation
0.73)% + (0.27)°
(0.73)% +(0.28)2 - (0.73) x (0.27)
3 3

. (0.73) ;(0.27) @1 T i ?
(0.73)° +(0.28)“ - (0.73) x (0.27)
(a) 1 (b) 0.4087  (c)0.73

(d) 0.27

Ifis x + 1 = -2, then the value of x7 4+ 1
X x7
!rl“ax+l=—2a‘rx7+i7 T U T ?
x x

(a) 1 (b)—-1 ()0 (d)-2
In a circle, two arcs of unequal length subtend
angles in the ratio 5 : 3 . If the smaller angle is
45°then the measure of other angle in degrees.
T g9 4, fawm oerg a & wm, wen W 5:3 F

T IaRa HId g1 T BT HIVT 45° &7 qY,

HIT HT AT T BIA?

10.

11.

12.

13.

(a)75° (b) 72° (c)60° (d) 78°

The orthocentre of an obtuse-anlged triangle
lies

T GUITHE BI9S &1 oid & ®el grm?

(a) Inside the trianlge/fst & i@

(b) Outside the triangle/fIs & T

(c) on one side of a triangle/fAYs & TH 3R

(d) none of these/3TH & &1g &

If a sin 45°.cos45°.tan60° = tanZ 45° — cos60°
then find the value of a ?

Ife sin45°.cos45°.tan60° = tan? 45° — cos60°
ST HE o ?

1
@-L B
NG

Ganesh, Ram and Sohan together can
complete a work in 16 days. If Ganesh and Ram
together can complete the same work in 24
days. The number of days Sohan alone takes, to
finish the work is

MUY, TW 3R e ety fonet &m &t 16 &7 & qu
HT hd &1 g oy ik T faetet SHt w W @ 24
fe7 ¥ g1 &Y Wahd §, A WiEgT & Thel 3 &M &l
H | Tohad fgd ee?

(a) 40 (b) 48 (c) 32 (d) 30

The radius of base of a right circular cone is 6
cm and its slant height is 10 cm. Then its
volume is (use I1=22/7)

T& d geig Vi &1 Inur B 6 At § o swant
fode =g 10 At &1 @ ST AR F= EAM? (
1= 22/7 &1 T4 &)

(a) 301.71 cm® (b) 310.71 cm ®

(¢) 301.17 cm? (d) 310.17 cm®

A shop keeper allows 20% __ Which he charges
Rs 740

T& gHMER U1 aEgeil & 3ifha Tod U 20% &t
2T 81 N a9y & fog ® 740 ageran &, 39 a%g &1
3ifehd qoa A HITT?

(a) Rs 725 (b) Rs. 875 (c) Rs. 925(d) Rs. 1040

A truck covers a distance of 550 metres in one
minute where as a bus covers a distance of 33
km in 3/4 hours. Then the ratio of their speeds
is:

&

3
1 No
(c) (d) 9



03-Sep-2016 (Evening Shift)

2

14

1S.

16.

17.

18.

19.

20.

& T U& (He | 550 e &t gl a9 &ydl § Saih
9 3/4 92 ¥ 33 fRHto T a7 &¥al 31 @ SAH! AT
T IIJUT 4T §?

(a)1:3 b)2:3 (3:4 (d1:4
Seven years ago, the average age of A,B and C
was 51 years . If A is 3 years older than B and B
is 3 years older than C, then the present ages of
A,B and C are (in year)

7 94 g A, B 3T C @t 3i9a oMg 51 o ot | g
A BU3adagig iR B,CA3gadagrd, @ A, B
3R C Ht TduE g (Tuf #) fhat & ?

(a) 61, 58 and 55 (b) 54, 51 and 48

(c) 55,58, and 61 (d) 48, 51 and 54

If a® +b% +¢2 =14 and a+b+c=6, then the
value of (ab + be + ca) is

i a?+b2+c¢2=14 IR a+b+c=6 ﬁ,?ﬁ
(ab + be + ca) HT AT AT ?

()11 (b) 12 (c) 13 (d) 14
If % + L =1, then the value of ad +b3is
a

!Tﬁ-:%+9=1?ha3 +b3 & AW &1 BN ?

a
(a)1 (b) 0 (¢)-1 (d2
If O is the centre of a circle of radius 5 cm. At a
distance of 13cm from O, a point P is taken .
From this point, two tangents PQ and PR are
drawn to the circle Then, the are of
quadrilater PQOR is
afg 0, 5 At ot g« 1 F= §1 O |13 Jft &t gt
W, T fog P foran e 81 fog @ 39 & & @yt W@
PQ 3R PR @ieh At 81 d, Ig9st PQOR &1 &9%d
TehaeT gm?
()60 cm?  (b) 32.5 em? (¢) 65 cm 2 (d) 30 em 2
A,B and C are three points on a circle with
centre O. The tangent at C meets BA produced
at T. If ZATC = 30° and ZACT = 48°, then what
is the value of F/AOB?
AB 3R C &% O a1 gu W feora o= fog 81 wref
T CBA & & & ®gU WM UX faewt & |
ZATC = 30° 3 ZACT = 48°®, @ /AOB & 4N
e ?
(a) 78° (b) 96° (¢)102° (d) 108~
If 3sinb+ 4cosb=50<06<90°) then the value
of sinf is
Ifd 3sin6+4cosd=50<0<90°) &, sin6 &T
T\ 1 ghm?

1 2 3 3

= b) 2 2 2
(a) 5 (b) 5 (c) 5 (d) 5
Two men standing on same side of a pillar 75
metre high, observe the angles of elevation of
the top of the pillar to be 30° and 60°

respectively the distance between two men is

21.

22.

23.

24.

25.

TF 75 T 3 Wh F U i @ @ whE T v
FHT IAGT HIU HAI: 30° A 60° T@A &1 AN
el & e g Tt & ?

(a) 1004/3m (b) 100+/3m 75

(c) —=m
V3
The difference between compound interest
and simple interest on Rs. 5000 for 2 years at

8% per annum payable yearly is

8% aMfier & WX (a¥ # 3@) 2 T & & 5000 W
Tehglg sATS 3R WIERUT &1 & dtel fohaaT 3= ] ?

(a)Rs 30 (b) Rs.31  (c)Rs. 33 (d)Rs. 32

The given pie chart have shows the spendings
of a country on various sports during a year.
Study the graph and answer the following
questions.

feu v ug-=rE # foedt Qo # fafve @ W U A
T Gl T T 1 39 A T eI dhiford iR
Trafafaa wgit & 9T )

(d) 25v/3m

Basket ball

15%
Football

If the total amount spent on sports during the
year was Rs 15,000,000 , the amount spent on
cricket and hockey together was
Iz o ¥ Well W FA@ & 15,000,000 ST THT @ Ht
TE qt ferche iR gt i e faaet TieT @< &t
T ?
(a) 6000000 (b) 5000000

(c) 3750000 (d) 75000000
If the total amount spent on sports during the

year was Rs. 12,000,000 , how much was spent
on basket ball?

Ife ad ¥ Well I FA € 12,000,000 FHt VT G i
T3 A aheate UT fahaet TiYT &< &t g

(a) 1250000 (b) 1000000

(¢) 1200000 (d) 1500000

The ratio of the total amount spent on football
to that spent on hockey was

Feaie & o @ &t T Her Ui U gt W Ed &t
TE HE YT AT AU F4T AT?
(@1:15 ()1:1 (015:1 (@3:2

Which is the central angle for the tennis.
2 & fau nea @Yo fwaw oier &1 & ?
(a) 36° (b) 63° (c) 33° (d)66°
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— ANSWER KEY
1. (b) 2. (c) 3. (¢) 4. (b) 5. (a) 6. (d) 7. (@) 8. (b) 9. (@ 10. (b)
11. (3) 12.(¢) 13.(c) 14.(@) 15.(@ 16.(b) 17.(a) 18.(d)  19.(c)  20. ("
21. (d) 22.(")  23.()  24.( 25 (a)
HINT & SOLUTIONS
1. A+B=80 ! total time ~ Lotal distance
A-B=20 i speed
a=80120_5 i J 242
2 ' 20
B=30"20_3 | - 128
i 10
A% -B? = (50)% - (30)* ! = 12.1 sec
= (50 +30)(50 - 30) i
=80 x 20 | 5. ©-73)% + (0. 273
= 1600 ; (0-73)% +(0-27% - (0-73) x (0-27)
2 +1 i Let,
Sp 104 103 i A - 0 ’ 73,B - 027
Profit 4 3 ! A% 4 B3 (A+B)AZ%+B? - AB)
g 0 0 : 2 o2 - 2 p2
| A2+B2-AB  (A2+B%-AB)
lunit =3 ! - A+B
Cp = 100unit= 300 i ~0.7340.27
3. Total students = 1500 i =10
@ B xilog
! x
girls Boys i Thisisonly possibleif x =-1
44% 56% .
(] " (] s i x7 +i7:(_1)7 4 17
= 1500 x o 1500 x 00 | x 1)
_ 660 si0 | -
! I A
gllrls Boys i 0, I
25% = 4 — Feeof each boy i 45° _ 3
i 8 5
t.. 3 i ! o
. — fee of each girl : 0, =75
4 unit — 540 !
1 unit — 232 - 135
660 x 3unit = 660 x 3x 135 = 267300 i
840 x 4unit =840 x 4 x 135 = 453600 |
total = 720900 i ortho centre of
i Right angles A
4. Speed="72km/h i 5
— 79y D 1 9. a-sin45° - cos45° -tan60° = tan” 45° — cos60°
ST i 11 2 1
: @ —=X—=x3=(1L)"-=
= 20 m/sec : V2 V2 2
total distance i ai 1 %3 =1— 1
length of train + length of Bridge i 2 2
=110+132 ! ot z3-1
i 2 2

= 242mtr



03-Sep-2016 (Evening Shift)

1

a=—

NE]

10. G+R+ S G+ R total work
Time 16days 24 days 48

Efficiency 3 2
G+R+S=3

G+R=3
S=1
Total work

Efficency of Sohan
=48

1
= 48 days

Time taken by sohan =

11.

«—— r=6cm —>»

In a right angled circular cone
H,r,1 -»Triplate

H, 6,10
l
8, 6, 10 — Triplate
So,, H=8cm
V= lﬂl"zh
3
=1ngx@ﬂx8
3 7
= 1 X 22 x 36 X8
3 7
=301-71 cm?2
12. ‘
(Discount) §2=20% = 1 — Discount
5 > Mp
4 — Sp
4 unit = 740 Rs

lunit = % =185Rs

mp=>5unit — 185x 5
=925Rs

13. Speed of truck = Distance

time
_ 550 mtr

1 mint
_ 550 mtr

"~ 60 sec
55
Speed of truck = Emtr/sec

4
Speed of Bus = M
time
- 33 km/hr
H
4
33 33 x 1000
= ERDIN = ———— mtr/sec
ZXGOXGO 3x15x60
33 x 1000

~ 60 x 6045 x 60
_ 530 331000

60  45%60
550 x 45 : 33 x 1000
50 x 45 : 3 x 1000
750:1000 = 3 :4

14.

A,B,C &t 7 98 Ugel 3i/wa g = 51 a&
FA g = 51x 3 = 153T4

A, FAMY =153+ T+7+7

=153+ 21=174

x+46+x+3+x =174
3x+9=174
3x =174-9
3x = 165
x =55
C —x =554
B—>x+3=55+3=58q4
A—>x+6=55+6=61a4

15.

a?+b%+c% =14

a+3+c=6
ab+bec+ca="?
(@a+b+c)?=a?+b%2+c%+2

(ab+ bc + ca)
(6)2 =14 + Aab + be + ca)
22 = Aab+ bc + ca)

ab+bc+ca=11

16.

a b _ & Ortho centre of obtuse angle
b a 1 Triangle lies out side the triangle
a?+b%=ab

a2+b2-ab=0
a®+b3=(a+b)a?+b%-ab)
=(a+b)x0
al+b3=0
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R
A & B g9 o Tet 3@ W gHSIT SEEA|
Z0QP =90°
0Q,0P, PQ — Triplate

. AOQP TIHIA

5 12 13

! ! )

0Q PQ OP

AOQP:%X5><12:30cm2

AOQPR = 2x AOQP
=2x30=60cm?

ZCAT = 180°(ZACT + ZATC)
=180 -78°
= 102°
/BAC =180° — ZCAT
= 78°
/CBA = ZACT
/CBA = 48° = ZABC
ZBCA =180° - (/BAC + ZABC)
= 180° —(78° + 48°)
= 180° - 126°
= 54°
aﬁmwaﬁmﬁamaﬁaﬁmwaﬂm@mél
: ZBOA = 2x ZBCA
= 2% 54°
ZAOB = 108°

19.

3sinB+4cosb =5

%sin9+ —cosB=1

20.

1
. 3
sinf = —
5
4
cosB=—
5
A .
AB —> a3t (pillor)
CD—> Distance b/w both people
75 mtr
B C p

AABD ¥

A
30° 60° N
l l 60°
715 7543 | % et 75
309
AB BD B (p
AABC ¥
A
>
30°
75
BH G0 D
610° 30°
75 75 & A
l V3
AB BC
75 f _ 753 _ - 9548
BB 8
CD = BD - BC
= 753 — 253
= 504/3
21. Let principal = 100
crsr= 2 - 8x8
100 100 .
TRIx = y = 8%
_ 64
100
100 unit — 5000Rs
1 unit — 50 Rs
64 64 50-32Rs.
100 100
( 22-25)
Figure not given in Exam.
22. 25415 1< 000,000
100
= ﬂ % 15,000,000
100
= Rs. 6000000
23. 12.5

x 12000000 = Rs. 1500000

24.

Required ratio = 15 : 15
=1:1

25.

Requried angle 10 x 360 = 36°
100




